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FAN: S
HE: 0ge 29
ool MBS S4 2| EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 23,936 0 23,936
oHaEse &X 180,000& * 96K 17,280
= 6,912
[ia 10,368
OHl&ANdES2E &X 66,000 * 96K 6,336
< 2,535
s 3,801
Ot & &X 40,000& = 8K 320
< 128
s 192
QYA ZE AP X Aol & 40,000 0 40,000
= 12,000
< 8,400
s 19,600
401 AIEHI L 2 CHYI 40,000 0 40,000
= 12,000
< 8,400
e 19,600
01 A& HI 40,000 0 40,000
OSYAZE AP X Dol A 40,000,000& 40,000
= 12,000
< 8,400
s 19,600
SEURAEHA =HE R AAEH sS4 188,313 159,304 29,009
< 6,720
s 181,593
gAYl X3 16,400 16,400 0
301 LA F 2,200 2,200 0
12 J|EtE4 = 2,200 2,200 0
OosgAdU® 0l 2 M
100,000& * 8%H 800
O2AZ22dUHE R3A & M
100,000& » 14&H 1,400
307 21201 A 14,200 14,200 0
04 QIZFHALAIR B &= 14,200 14,200 0
Ooggaretth JI=dHU3 9,200,000& 9,200
odsAardll /35 5,000,000& 5,000
SEL 4 149,513 117,904 31,609
308 XXM SOIA 120,188 106,904 13,284
NHHZSEdNABIYEE 120,188 106,904 13,284
Osgeegas 24l 40,000,000& 40,000
Ot = F X & 3,500
-RIIget BAHAE Fdldl 2,500,000& 2,500
-=014 D 2L 1,000, 000& 1,000
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AN AASEN
Bu: oigel 29
Sl BEYUSEA 2T L AISH S4 (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ounssdiad 26,000
-0lHl=Z2 =& gX= 12,000, 000& 12,000
e AN 12,000, 000& 12,000
-EH0 22 1,000,000 1,000
-EEE JIAZF EHl 5Nl 1,000, 000& 1,000
FUH2EXNE 50,688
-MlHl =20 29X &
1,200,000& * 700 £ 8,400
-0lHI 2 X & 2 &2 skl 3,000,000& 3,000
-=&J |Xbl 800,000 800
-MHZR0 #HMS} M=
360,000& = 70H A 2,520
-OlHIZ2XSESU ARA ®MIZ2
600,000 * 123 7,200
-HHIZHU(A , WES) AIRA JD2
200,000 * 123 2,400
-MHZAIRA RoAH MEZ
132,000 * 123 1,584
-oiHl 2 S SIIE3I Xz
275,000 * 123 3,300
-SEI HES 10,800, 000& 10,800
-SEYAMNEXE FF 3,600,000 3,600
-S4 H0BZ20 MR D=
300,000& = 12& 3,600
“S4H0b 20 MRA =22
50,000& = 12& 600
—SAEMH 20 ARA ROBH MEES
132,000& * 12& 1,584
-RHI| SHHIL Ol & XIHI (&S 0HIZ2H)
900,000& 900
-2 Ol MAXIHI (ALl =H)
400,000& 400
403 UtXISHE X201 & 29,325 11,000 18,325
3obZESLEXNINEEER 29,325 11,000 18,325
OSL=H X & 14,865
-CXg s8R 770,000& * 7H 5,390
-CXE AL 5,000& = 1,0000H 5,000
—-Jf ol & ot 200,000& = 104 2,000
-2x 27,500 * 90K 2,475
Otz n=EM 3,000,000& 3,000
ORU2a XA 3,460
~ZHlD SOOI (&S olHI 2 0H)
3,160,000& 3,160
-dEMd 2 SH 2L 300,000& 300
OS&EIl SAHII XN& 8,000,000& 8,000
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SN QBT
HE: 0ge 29
CHe: SFEYUAEHAM EE L AMISH 4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
b Z2wus &H X 22,400 25,000 A 2,600
== 6,720
= 15,680
403 XX SHHS K201 & 22,400 25,000 A 2,600
o= 6,720
= 15,680
03 HHZEHLAINESEX 22,400 25,000 A 2,600
oz Jlst &8 2& 350,000 = 2404 8,400
& 2,520
= 5,880
OCXE sHEEI| 350,000 = 2074 7,000
= 2,100
= 4,900
Osdz B4/3H| 6,000,000& 6,000
& 1,800
= 4,200
Ot 28 & Hx=&g 250,0008 * 400 A 1,000
== 300
= 700
ofd 22l 7,533,220 15,340,300 NT7,807,080
= 170,300
o= 170,000
= 7,192,920
A esotd X2l 571,520 505,600 65,920
= 170,000
= 401,520
N SA 22 AL (EX) 170,000 117,000 53,000
= 170,000
401 Al HI L 2 0HHI 170,000 117,000 53,000
= 170,000
01 Al& H| 170,000 117,000 53,000
OXgsotad A2 170,000,000 170,000
& 170,000
Xl eatA 2te| Are 399,520 385,000 14,520
201 gBt2Ad| 29,520 15,000 14,520
01 AP 2t 2| H| 6,000 6,000 0
Oogzte &AX 6,000,000& 6,000
02 222 23,520 9,000 14,520
Oth£=E2 dIIe3 9,000,000& * 80% 7,200
Oodtd FaZHAItOIZH(CCTY) HD| - EAR22
100,000 = 170 = 128 * 80% 16,320
401 Al HI L 204 HI 370,000 370,000 0
01 Al&H| 300,000 300,000 0
OotdEH S#AHAMH| 300,000
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2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
- W otdY SF A 150,000, 000& 150,000
-SE - HOIM SHEHY HTAIY
150,000, 000& 150,000
03 Al 201 Y] 70,000 70,000 0
OdtdEA L GtaEe EHl Xt
70,000,000 70,000
2Ma2e| (otA) 2,000 3,600 A 1,600
201 LEt29Y| 2,000 3,600 A 1,600
01 AFR2t2l bl 2,000 3,600 A 1,600
O=2RMa =& & )| =2 2,000
=S¥ =35 2,000,000& * 80% 1,600
sl === 500,000& * 80% 400
A0HE S X2 6,110,200 14,554,000 A8,443,800
AOIE KA 22 ALE 412,200 1,114,000 A701,800
201 LEt2AY| 6,600 7,000 AN 400
01 AFR 2t 2l bl 6,600 7,000 AN 400
OEXOIEZHE22IAIAEY S22
6,600,000 6,600
202 04| 5,600 7,000 A 1,400
01 2LHOHI 5,600 7,000 A 1,400
Odtdg M SR=F bl 7,000,000& * 80% 5,600
401 Al HIL 201 400,000 1,100,000 A 700,000
01 Al &bl 100,000 795,590 A 695,590
O4otd DIZSESXN A2 100,000,000 100,000
03 AlE 201l 300,000 304,410 N4 ,410
Ot E=4 L ota sl &bl xt
300,000,000& 300,000
AOIE Y (HIEHEI &) (HEAIS) 1,454,000 5,000,000 N 3,546,000
401 Al HI 2L 2 0HHI 1,454,000 5,000,000 N 3,546,000
01 A& HI 1,452,000 5,000,000 A 3,548,000
OdldHelAotE AHHIALE 1,452,000,000& 1,452,000
03 Al& 201 Y] 2,000 0 2,000
OHl&HelAotE HHIALE 2,000,000 2,000
AGHE Y (XEA)(HEAIS) 3,614,000 5,140,000 A 1,526,000
401 Al HIL 201 3,614,000 5,140,000 A 1,526,000
01 A& HI 3,614,000 5,140,000 A 1,526,000
OXHEAGHE HHIALL 3,614,000,000& 3,614,000
AGIEHEH (A2 ACHA)(HEAY) 630,000 100,000 530,000
401 Al HI YL 2 0HHI 630,000 100,000 530,000
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SN QBT
M otzel
A0t ® X2tk )
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& HI 630,000 100,000 530,000
OLMBACHE ZelA S (&H - )(L=645m)
630,000,000& 630,000
Mol = = 681,200 100,700 580,500
TH ol = =2 2t 2l 100,700 100,700 0
201 Let249] 700 700 0
01 At 22/l 700 700 0
OMi==2=&X&EM M= 700,000& 700
302 Ol = THoH £ & 50,000 50,000 0
02 RIZIOITHOH & = a3 50,000 50,000 0
OXATHOH AP A ToH M XIR 2
50,000, 000& 50,000
401 Al& I 28I 50,000 50,000 0
03 Al 2 0HHI 50,000 50,000 0
OoNdisS=+ ZHxX 50,000,000& 50,000
SRt s==74l 580,500 0 580,500
401 Al B2 28I 580,500 0 580,500
01 A& HI 578,500 0 578,500
O==RIlol 22= 2 (AoHE)
578,500,000& 578,500
03 A& =2 THHI 2,000 0 2,000
Ozl 2=2=7AtE S20HHl 2,000,000 2,000
=5t KX 22l 170,300 180,000 29,700
= 170,300
SIIGIE SN EALS 170,300 180,000 29,700
= 170,300
401 A& BIZ 201 8I 170,300 180,000 29,700
= 170,300
01 A& HI 170,300 180,000 29,700
O2Jtotd SNES=ALS 170,300, 000& 170,300
= 170,300
B2 (A ESZ ) 35,900 36,777 ABT7
Jldul (et Es2t) 35,900 36,777 ABT77
Jl2&l 35,900 36,777 AB77
201 L2l 28,844 30,777 A 1,933
01 At 2teltl 27,599 29,000 21,401
O+t 5,981,000& 5,981
O= &l 8,070,000& 8,070
O=SAD 2z 440,000& * 100 ~ 12& 5,280
O&F=)| gtz 80,000& = 104 » 12& 960
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SH: SHHBZY
Ha: YHSYAH (AHZZ)
2

¢elr J23H(¢ES21) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHEEH 22 2| 7,308
-ZZeH 5,544
g4
440,000 » 10 = 483 = 33| = 90% 4,752
-E™ 440,000& = 1CH = 23] = 90% 792
-YHtZ ey 200,000& * 408 = 23] * 90% 1,440
—-FAX 120,000& = 1CH = 33| = 90% 324
02 =224l 1,245 1,777 A 532
OdFTH KAt 1,245
-CII S AR D12I
1,300,000& = 21CH = 5% = 70% 956
-Zgg 4,000,000& = 5CH * 2% = 70% 280
—-FAX 600,000& = 1CH * 2% » 70% 9
202 odl 1,680 2,400 AT20
01 = LH o4 1l 1,680 2,400 AT20
OUMEZ D YLEN OfH|
2,400,000& * 70% 1,680
203 YR =2t 4,200 3,600 600
04 EA2IYRFLH| 4,200 3,600 600
ORN2EYE=AHI 350,000& = 123 4,200
405 XHoHF S HI 1,176 0 1,176
01 HatH ESFH S 1,176 0 1,176
OARa 2357 1,176
-HHIR 2 513,000& = 24 1,026
A= 150,000 * 14 150
HREsS(tdsZ ) 1,018,000 1,014,000 4,000
WEAHAXES(HES21) 1,018,000 1,014,000 4,000
Met2e|dls 853 1,018,000 1,014,000 4,000
702 )1 SEEZS 1,018,000 1,014,000 4,000
(O RWIE=RSE-3= 1,018,000 1,014,000 4,000
OM:t2edIg dE3 1,018,000, 000& 1,018,000
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